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48 (f PEF S FTH Bk R ATR & kY 5 100% (% 4~ & 5) -
01 BT BRITE 2 G 0k A 2 pEp inE R B
FEN (Bl ) §oed s Z;“Z
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R 3 800 400 200 100 50 800 400 200 100 50
% 30+£17 87+19 100£0 10040 100+0  32+16 88+16 100+0 100+0 100%0
MR % 42424 97+6  98+3 100£0 100+0  50+17 9746 98+3 100+0 100+0
W& %  32¢16 92+14 100+0 100+0 100+0 47425 95+9 100+0 100+0 1000
Z% %  43t12 80+30 100+0 100+0 100+0 47+6 82+32 100+0 100+0 100%0
[ # % 57+18 9013 100+0 100+0 100+0  60+18 92+10 100+0 100+0 100+0
T2 % 40+17 95+9 100£0 10040 100+0  43+12 9746 100+0 100+0 100+0
T4EF  53+20 9743 100+0 100+0 100+0  55+20 9743 100£0 100+0 100%0
£ %  53+8 92414 100£0 100+0 100+0 57+3  93+12 100+0 100+0 100%0
B L% 47430 78+23 9746 100+0 100+0  53+35 78+23 97+6 100+0 1000
WIEF 52434 93+6 95+9 100+0 100+0  53#32 9545 100+0 100+0 100+0
= %%  35t5 65#31 95+5 100+0 100%0 35+5 67+31 95+5 100+0 100%0
ot %  45+22 8846 93+6 100+0 100+0  50+23 93+8 95+5 100+0 100%0
% % lab 100£0 100+0 100+0 100+0 100+0  100+0 100+0 100+0 100+0 100+0
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FRBF 800 400 200 100 800 800 400 200 100 800
L% 100£0 100£0 1000 100+£0 100+0 100£0 1000 1000 100+0 100+0
JEZ% 10020 1000 100£0 100+0 100+0 100£0 1000 1000 100+0 100+0
W EH 97+3  100£0 100£0 100+£0 100+0 1000 100+£0 100+£0 100+£0 100+0
=4 % 10020 100£0 100+0 100+0 100+0 100£0 1000 1000 100+0 100+0
%  100£0 100£0 100+0 100+0 100+0 100+0 1000 1000 100+0 100+0
%% 100£0 100£0 1000 100+0 100+0 100+£0 1000 1000 100+0 100+0
WALE  100+0 1000 100+£0 100+0 100+0 100£0 1000 100+0 100+0 100+0
% 100£0 100£0 100+0 100+0 100+0 100£0 1000 1000 100+0 100+0
BL% 10040 100£0 100+0 100+0 100+0 100£0 1000 1000 100+0 100+0
T 9312 100£0 100+0 100+0 100+0 100£0 100+0 1000 100+0 100+0
=% %  100£0 100+0 1000 100+0 100+0 100+0 1000 1000 100+0 100+0
% 100£0 100+£0 1000 100+0 10040 100+0 100+0 100+0 100+0 100+0
% v lab 1000 1000 100£0 100+0 100+0 10040 100+0 1000 100+0 100+0
IR ASRFERFEGE 2 F 5= FRAE 0%
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G 1200 600 300 150 75 1200 600 300 150 75
BHL®E 97+3 1000 1000 100+£0 10040 98+3  100+£0 100+0 100+0 100+0
EZ%  98+£3  100£0 100£0 100+0 1000 98+3 100+0 100+0 100+0 100+0
&% 9549  100£0 100+0 100+0 100+0 9549  100+0 100+0 100+0 100+0
ZF % 98+3 1000 100£0 1000 100+0 98+3  100+£0 100+0 100+0 100+0
. # % 100£0 100£0 100£0 100+0 1000 1000 1000 100+0 100+0 10040
¥ % 1000 1000 1000 100+0 10040 10040 1000 100+0 100+0 10040
TALF 100£0 100£0 100+0 100+0 100+0 1000 1000 100+0 100+0 10040
F%  98+3  100£0 100+0 100+0 100+0 98+3  100+0 100+0 100+0 100+0
BL%  100£0 100£0 100+0 100+0 100+0 1000 1000 100+0 100+£0 10040
WIETF 100£0 100£0 100£0 100+0 100+0 1000 1000 100+0 100+0 10040
Z 2%  100£0 100+0 1000 100+0 10040 1000 1000 100+0 100+0 10040
W% 983  100£0 1000 100+0 100+0 98+3  100+0 100+0 100+0 10040
%% lab  100£0 100+0 100£0 100+0 100+0 1000 1000 100+0 100+0 10040
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FRBSF 1200 600 300 150 75 1200 600 300 150 75
L% 973 1000 1000 1000 100+0 9743  100+£0 100+0 100+0 100+0
JEZ% 10020 1000 100£0 100+0 100+0 1000 1000 100+0 100+0 100+0
W EH 95+5 100£0 100£0 100+£0 100+0 1000 100+£0 100+£0 100+£0 100+0
=4 % 100£0 100£0 100+0 100+0 100+0 1000 1000 100+0 100+0 100+0
%  100£0 100£0 100+0 100+0 100+0 1000 1000 100+0 100+0 100+0
%% 100£0 1000 1000 100+£0 100+0 1000 1000 100+0 100+0 100+0
WALE 9746 1000 100+£0 100+0 100+0 100£0 1000 100+0 100+0 100+0
Foe % 85£18 100£0 100+0 100+0 100+0 95+5 100+£0 1000 100+0 100+0
BL%  100£0 100£0 100+0 100+0 100+0 1000 1000 100+0 100+0 100+0
FETF 10020 100£0 100+0 100+0 100+0 1000 1000 100+0 100+0 100+0
=A% 93+£12 1000 1000 100+0 100+0 9549 1000 100+0 100+0 100+0
#wHE® 0 9589  100+0 100£0 100+0 100+0 98+3 1000 1000 100+0 100+0
% v lab 1000 1000 100£0 100+0 100+0 1000 1000 100+0 100+0 100+0
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